
Paper – 3:   Business Statistics 
 

Time:  3 hours                                  Max. Marks: 80 

SECTION - A  

 

Answer ALL questions.               4x15=60 
                
1 a) Present the following data relating to the monthly expenditure of two families A&B in a   

suitable diagram. 

      Expenditure          Family –A        Family –B 

      Food      200    300 

      Clothing                 100    100 

      Rent      200    200 

      Miscellaneous    200    300 

    ¬s+&ÉT ≈£î≥T+u≤\T  A  n+&é  B jÓTTø£ÿ HÓ\dü] Ks¡TÃ\T Çe«ã&çq$. dü]nsTTq ∫Å‘·|ü{≤ìï  
     ì]à+#·+&ç. 
     Ks¡TÃn+X¯+    ≈£î≥T+ã+  A      ≈£î≥T+ã+  B 

    s¡÷ˆˆ            s¡÷ˆˆ 
     ÄVü≤s¡+                 200          300 
     eg+                     100            100 
     n<Ó›                       200                 200 
    Ç‘·sê\T                  200            300 
 

(Or) Ò̋<ë 
b) Calculate standard deviation from the following data. 

           Wages     Number of workers 

         Less than 

                10       12 

       20       30 

       30       65 

     40     107 

     50     157 

     60     202 

     70     222 

     80     230 

  á  ÅøÏ+~ <ä‘êÔ+X¯eTTq≈£î ÅbÕe÷DÏø£ $#·\Hêìï >∑DÏ+#·+&ç. 
     y˚‘·Hê\T      ø±]à≈£î\ dü+K´ 
ø£+fÒ ‘·≈£îÿe   10      12 

         20                 30 
30               65 
40                 107 
50                 157 
60                  202 
70                 222 
80                   230 

 



2 a)  Calculate Bowley’s coefficient of skewness from the following data. 

         Class Interval:   10-19      20-29      30-39   40-49   50-59   60-69   70-79  80-89. 

          Frequency     :     5      9             14       20        25        15        8          4 

á ÅøÏ+~ <ä‘êÔ+X¯eTT qT+&ç uÖ©yÓ’wüeT´ >∑TDø£eTT >∑DÏ+#·+&ç. 
‘·s¡>∑‹ n+‘·s¡eTT  10`19    20`29    30`39   40`49   50`59    60`69    70`79   80` 89    
 bÂq:|ü⁄q´+           5          9         14        20      25        15         8         4 

(Or) Ò̋<ë 
    b) Construct Fisher’s ideal index number from the following and show how it satisfies   

factor and time reversal tests. 

      Commodities             Base year                           Current year 

        Price Rs.     Qty. (kg)                Price. (Rs.)   Qty.(kg.) 

          A   2          10       4         12 

          B   4           5       5          6 

          C   6           5       7          8 

          D   2          10       4        15 

          E   5          15       8        20 

 

~>∑Te $es¡D\ Ä<Ûës¡+>± |æwüsY‡ dü÷N dü+K´ ì]à+∫, n~ ø±\ |ü]es¡Ôq, ø±s¡ø±\ |ü]es¡Ôq |üØø£å\
qT dü+‘·è|æÔ |üs¡TdüTÔ+~ ˝Òì~ ìs¡÷|æ+#·+&ç. 

edüTÔe⁄\T   Ä<Ûës¡ dü+e‘·‡s¡+    es¡Ôe÷q dü+e‘·‡s¡+ 
<Ûäs¡   |ü]e÷D+    <Ûäs¡   |ü]e÷D+  

m     2   10      4   12 
_     4    5      5    6 
dæ      6   5      7    8 
&ç      2   10      4   15 
Ç      5   15      8   20 

 

3   a) Find out the co-efficient of correlation of Karl person’s from the following data. 
 

                   Age of Husband:     21  23  25  26  28  31  36  37  40  41 

                   Age of Wife :          16   18  22  23  26  28  31  33  36  39 

áÅøÏ+~ <ä‘êÔ+X¯eTT qT+&ç ø±sY¢ |æj·Ts¡‡Héæ düVü≤dü+ã+<Ûä >∑TDø£eTTqT ø£qT>=q+&ç. 
       uÛÑs¡Ôej·TdüT     21 23 25 26 28 31 36 37 40 41 
      uÛ≤s¡́ ej·TdüT    16 18 22 23  26 28 31 33 36 39 
 

                                                                   (Or) ˝Ò<ë 
  

     b) Calculate Mean, median and mode from the following data. 

               Class:                   0-10   10-20  20-30  30-40  40-50  50-60  60-70 

               Frequency:          15       20        28        32        18        12       5 

      á ÅøÏ+~ <ä‘êÔ+X¯eTT qT+&ç n+ø£eT<Ûä́ eTeTT, eT<Ûä́ >∑‘·eTT , u≤VüQfi¯ø£eTT ø£qT>=q+&ç. 



‘·s¡>∑‹          bÂq:|ü⁄q´+ 
 0`10       15 
10`20       20 
20`30       28 
30`40      32 
40`50       18 
50`60       12 
60`70        5 

 

4  a) From the following data compute trend values by the method of least squares. 

                       Year:    2006   2007   2008   2009   2010   2011  2012  

                       Sales:     73           82      75       90          95      100       110  

      á ÅøÏ+~ <ä‘êÔ+X¯eTT qT+&ç ©dtº ùdÿ«sY‡ |ü<ä∆‹ <ë«sê Åf…+&é $\Te\qT ø£qT>=q+&ç. 
       dü+e‘·‡s¡+ : 2006   2007   2008   2009   2010   2011   2012 
       neTàø±\T :   73     82     75     90     95    100   110 
 

      (Or) Ò̋<ë 
 

     b) Find the two regression lines by using the following data and estimate y when x in 10. 
 

                                          x  15  18  26  28  31  25  19  35  

                                          y  10  11  16  19  17  14  11  24 

á ~>∑Te $esê\qT+&ç ¬s+&ÉT Å|ü‹>∑eTq düMTø£s¡D≤\T ø£qT>=ì  x  $\Te 10 nsTT‘˚  y  $\Te  
>∑qq #˚j·T+&ç. 

      x    15  18  26  28  31  25  19  35 
      y     10  11  16  19  17  14  11  24 

 

SECTION –B               

                   

Answer any FOUR questions.         4x5= 20 

 @yÓ’Hê Hê*Z+{ÏøÏ düe÷<Ûëq+ sêj·T+&ç. 
5.  Calculate harmonic mean of following data. 

              x:                      10   20   30   40   50  

               Frequency:           5     4      3     2     1   

    á ÅøÏ+<ä Çe«ã&çq <ä‘êÔ+X¯eTTq≈£î Vü‰s¡ eT<Ûä́ eTeTT >∑DÏ+#·+&ç. 
                x:    10   20   30   40   50  
         bÂq:|ü⁄q´+  5    4    3    2    1 
 
 

 6. Calculate mean deviation of the following data. 

                      x:  10   11   12   13   14   15   16 

                      y:    3   12  18    12     3     2     1 

   ÅøÏ+~ <ä‘êÔ+XÊìøÏ eT<Ûä́ eT $#·\Hêìï ø£qT>=q+&ç. 
                      x:   10   11   12   13   14   15   16   
                      y:     3   12   18   12    3   2    1 



7.  Calculate rank co- efficient of correlation for the data given below. 

                   Marks in English:   80   64  54  48  49  35  32 

                   Marks in Telugu:    36   38  39  41  27  43  45 

    ÅøÏ+~ <ä‘êÔ+X¯eTT qT+&ç sê´+≈£î düVü≤dü+ã+<Ûä >∑TDø£eTTqT >∑Dq #˚j·T+&ç. 
Ä+>∑¢eTT˝À e÷s¡Tÿ\T  80  64  54  48  49  35  32 
‘Ó\T>∑T˝À e÷s¡Tÿ\T    36  38  39  41  27  43  45 
 

8.   Calculate 3 yearly moving average for the following data. 

                  Year:            2001   2002   2003   2004   2005   2006   2007   2008 

              Production:        60       62        70      82       91       85      89        92. 

    á ~>∑Te <ä‘êÔ+X¯eTT\≈£î eT÷&ÉT dü+e‘·‡sê\ #·\q e÷<Ûä´e÷\T >∑Dq #˚j·T+&ç. 
dü+e‘·‡üs¡+:  2001  2002  2003  2004  2005  2006  2007  2008 
ñ‘·Œ‹Ô    :    60     62     70     82     91    85      89     92 

 

9.  What is meant by primary data? Explain various methods of collecting primary data. 

    ÅbÕ<∏ä$Tø£ <ä‘êÔ+X¯+ nq>±H˚$T? ÅbÕ<∏ä$Tø£ <ä‘êÔ+X¯+ ùdø£s¡D≈£î dü+ã+~Û+∫q $$<Ûä |ü<ä∆‘·T\qT     
     >∑÷]Ã ‘Ó\|ü+&ç. 
10. Distinguish between dispersion and skewers 

     $düÔs¡De÷Hê\T, yÓ’wüeT´eTT \ eT<Ûä´ ‘˚&Ü\qT ‘Ó\TŒeTT. 

11. Define the term correlation? Explain its importance. 

     düVü≤dü+ã+<Ûä+ qT ìs¡«∫+∫, <ëì ÅbÕeTTK´‘·qT $e]+#·+&ç. 

 12. What do you understand by cost of living index numbers? 

     Jeq e´j·T dü÷N dü+K´ >∑÷]Ã ˙e⁄ @$T ns¡∆+ #˚düT≈£îHêïe⁄. 

 

 

 

 

 


